## CONTRACT AGREEMENT

THIS AGREEMENT, made this \_\_\_\_\_\_ day of \_\_\_\_\_\_ between the ILOILO SCIENCE AND TECHNOLOGY UNIVERSITY, a public institution of higher learning, organized and existing under Republic Act No. 10595, with office address at Burgos Street, La Paz, Iloilo City, Philippines, represented herein by DR. GABRIEL M. SALISTRE, JR., in his capacity as SUC President III (hereinafter called the "ISAT U") and CD BOOKS INTERNATIONAL, INC. with office address at 0524-A-Dela Rama Compound, Jakosalem Street, Brgy. Cogon Central Ramos, Cebu City, Philippines represented by its Authorized Representative, MS. BABY WINNIE C. AMOR (hereinafter referred to as the "SUPPLIER");

WHEREAS, ISAT U invited Bids for certain goods and ancillary services, particularly the PROCUREMENT OF BOOKS FOR THE UNIVERSITY LIBRARY with Project Reference No. ISAT U GOODS – 2024 – 04 – 058 and has accepted a Bid by the SUPPLIER in the sum of TWO MILLION THREE HUNDRED SIXTY ONE THOUSAND TWO HUNDRED SEVENTY FIVE PESOS (PhP 2,361,275.00) ONLY, hereinafter called the "Contract Price".

## NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- In this Agreement words and expressions shall have the same meanings as are respectively
  assigned to them in the Conditions of Contract referred to;
- The following documents as required by the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184 shall be deemed to form and be read and construed as integral part of this Agreement, viz.:
  - i. Philippine Bidding Documents (PBDs);
    - Schedule of Requirements;
    - Technical Specifications;

Item No.	Description/Brand	Qty	Unit	Unit Cost	Total Cost
1	Book - Algebra 1: 1001 Practice problems for Dummies/Sterling, 2022	1	copy	2,897.00	2,897.00
2	Book - Algebra 2: 1001 Practice problems for Dummies/Sterling, 2022	1	сору	2,897.00	2,897.00
3	Book - Advanced Management Information System (MIS): for ITE, business and allied programs/Abante, 2023	2	сору	662.00	1,324.00
4	Book - Algorithms for VLSI design automation/McKenzie, 2022	1	copy	6,780.00	6,780.00
5	Book - Applied Statistics in physical education/ Collier, 2022	1	сору	7305.00	7,305.00
6	Book - Assessment in learning 2: Authentic assessment/Corpus, 2021	1	copy	605.00	605.00
7	Book - Assessment of childrens development and learning/Navarro, 2021	1	copy	605.00	605.00
8	Book - Basic Biomechanics 9th ed / Hall, 2022	1	сору	4,900.00	4,900.00
9	Book - Basic concepts of travel and tourism/ Bertram, 2024	1	сору	7,127.00	7,127.00
10	Book - Becoming a personal trainer dor Dummies 2nd ed./Austin, 2022	1	сору	2,573.00	2,573.00
11	Book - Beginning software engineering 2nd ed/ Stephens, 2023	1	сору	4,925.00	4,925.00
12	Book - Biology 6th ed/ Brooker, 2023	1	сору	6,350.00	6,350.00
13	Book - Bread and pastry production NCII: tourism sector/ Cabreros, 2021	2	сору	662.00	1,324.00
14	Book - Building an effective Security program for distributed energy resources and systems: understanding security for smart grid and distributed energy resources and systems, vol. 1/ Hemtea, 2021	1	copy	12,370.00	12,370.00
15	Book - Chair Yoga for Dummies/Payne, 2022	1	сору	2,673.00	2,673.00
16	Book - Chemistry Atoms first 5th ed/ Burdge, 2024	1	сору	6,750.00	6,750.00

17	Book - Children and adolescent Literature/ Gonzales, 2022	1	copy	485.00	485.00
18	Book - Commercial baking with entrpreneurship rev ed./ Dinaga, 2022	2	copy	592.00	1,184.00
19	Book - Commercial refrigeration; for air conditioning technicians 4th ed./ Wirz, 2022	1	сору	10,905.00	10,905.00
20	Book - CompTiA cloud+ study guide exam CVO-003/ Piper, 2021	1	сору	4,925.00	4,925.00
21	Book - CompTIA cloud+: guide to cloud computing 2nd ed./West, 2023	1.	сору	8,450.00	8,450.00
22	Book - Computer graphics and animation/ Moody, 2022	1	сору	7,350.00	7,350.00
23	Book - Computer graphics and multimedia/Moody, 2022	1	сору	6,817.00	6,817.00
24	Book - Computational analysis of communication: a practical introduction to the analysis of texts, networks, and images with code examples in Python and R/ Atteveldt, 2022	1	сору	6,925.00	6,925.00
25	Book - Consumer behavior, Building Marketing Strategy 15th ed./ Mothersbaugh, 2024	1	copy	5,820.00	5,820.00
26	Book - Cost control in Hospitality Industry/ Fababaer, 2020	1	сору	550.00	550.00
27	Book - Culinary Nutrition: the science and art of healthy cooking/ Natad, 2023	2	сору	410.00	820.00
28	Book - Cultural and Heritage tourism for economic development/Cooper, 2024	1	сору	7,268.00	7,268.00
29	Book - Dairy ingredients for food processing/ Mante, 2020	1	copy	7,128.00	7,128.00
30	Book - Data Analytics & Business intelligence/ Abante, 2023	2	copy	822.00	1,644.00
31	Book - Developmental Methodologies of software Architecture/ Borg, 2024	.1	сору	7,270.00	7,270.00
32	Book - Differential calculus: a worktext 2nd ed./ Aspuria, 2023	2	сору	522.00	1,044.00
33	Book - Discrete Mathematics and its application/ Baxter, 2022	1	сору	7,270.00	7,270.00
34	Book - Earth Science: Quaternary Earth the age of humans 2nd ed/ Reyes, 2023	1	сору	558.00	558.00
35	Book - Economics 23rd ed./ McConnell, 2024	1	copy	5,335.00	5,335.00
36	Book - Engineering Electromagnetics 9th ed./ Hayt, 2019	1	сору	5,883.00	5,883.00
37	Book - Entrepreneurship/ Marcelo, 2022	2	copy	452.00	904.00
38	Book - Essentials of Human computer interaction/ Cortez, 2021	2	copy	350.00	700.00
39	Book - Exploring childrens Literature to enhance literacy in the elementary grades/ Conjusta, 2022	2	сору	653.00	1,306.00
40	Book - Facilitating Learner-Centered Teaching 5th ed/ Lucas, 2020	1	сору	637.00	637.00
41	Book - Fisheries and aquaculture 'management of aquatic resources/ Hudson, 2024	1	сору	7,630.00	7,630.00
42	Book - Food and society 3rd ed. / Guptill, 2023	1	copy	2,945.00	2,945.00
43	Book - Food science catering technology and kitchen management/ Roth, 2023	1	сору	7,230.00	7,230.00
14	Book - Fundamentals of Food service operations/ de la cruz, 2022	2	сору	452.00	904.00
15	Book - Fundamentals of Mycology and Phytopathology/ Orlovich, 2024	1	сору	7,127.00	7,127.00
16	Book - Gender and society/ Martinez, 2022	2	сору	465.00	930.00
17	Book - Guiness world records 2024/Guiness world record, 2023	1	copy	4,305.00	4,305.00
18	Book - Haircutting for Dummies 2nd ed / Spear, 2022	1	оору	2,550.00	2,550.00

49	Book - Hajimernashou: Learn basic Japanese/Dafun, 2022	2	сору	465.00	930.0
50	Book - Handbook of energy efficiency and renewable Energy / Donaldson, 2022	1	copy	7,305.00	7,305.0
51	Book - Health economics and policy 8th ed. / Henderson, 2023	1	сору	8,453.00	8,453.0
52	Book - Health psychology: an introduction to behavior and health 10th ed/Brannon, 2022	1	оору	8,453.00	8,453.0
53	Book - Home decorating for Dummies 3rd ed/ McMillan, 2023	1	copy	2,720.00	2,720.0
54	Book - How to design and evaluate research in education 11th ed/Fraenkel, 2023	1	сору	5,900.00	5,900.0
55	Book - Human Diseases 6th ed/ Neighbors, 2023	1	сору	8,498.00	8,498.0
56	Book - Hybrid electric & fuel cell vehicles 3rd ed./Erjavec, 2023	1	сору	8,705.00	8,705.0
57	Book - Illustrated sports encyclopedia/ 2023	1	сору	3,703.00	3,703.0
58	Book - Impacts of climate change on biodiversity/ Miller, 2024	1	сору	6,708.00	6,708.0
59	Book - Information Assurance and security 1 & 2/Abante, 2022	2	сору	830.00	1,660.0
60	Book - Information Assurance and security book 1/ Pomperada, 2023	2	сору	452.00	904.00
61	Book - Information Assurance and security book 2/ Pomperada, 2023	2	сору	452.00	904.00
62	Book - International Accounting 6th ed/Doupnik, 2024	1	сору	5,920.00	5,920.00
63	Book - International Business and Trade/Martin, 2021	1.	copy	662.00	662.00
64	Book - International Financial Management 10th ed/Eun, 2024	1	copy	5,920.00	5,920.00
65	Book - Introduction to cybersecurity/ Pomperada, 2023	2	copy	550.00	1,100.0
66	Book - Introduction to discrete mathematics: for computer science. Information Technology and information systems/ Sirug, 2023	2	сору	662.00	1,324.00
67	Book - Introduction to graphics communications for engineers 5th ed /Bertoline, 2022	1	copy	3,905.00	3,905.00
68	Book - Introduction to human computer interaction/ Revano, 2023	2	сору	593.00	1,186.00
69	Book - Introduction to learning and behavior 6th ed/Powell, 2023	1	сору	8,455.00	8,455.00
70	Book - Introduction to traffic Engineering/Y. Xiaokuan, 2022	1	copy	2,247.00	2,247.00
71	Book - Introduksyon sa pananaliksik sa wika at panitikan/Alvarado, 2022	2	сору	522.00	1,044.00
72	Book - Isinalarawang Introduksiyon sa Arkitekturang Filipino = an Illustrated introduction to Filipino Architechture/ Fernandez, 2023	1	сору	1,350.00	1,350.00
73	Book - Landscaping for Dummies 2nd ed./Chace, 2022	1	сору	2,618.00	2,618.00
74	Book - Language learning materials development/Abao, 2021	1	copy	592.00	592.00
75	Book - LET Comprehensive Reviewer based on 2022 enhance table of specifications (TOS) for the board licensure examination for professional teachers (BLEPT): General Education/ Corpuz, 2023	2	сору	940.00	1,880.00
76	Book - LET Comprehensive Reviewer based on 2022 enhance table of specifications (TOS) for the board licensure examination for professional teachers (BLEPT): professional education/ Corpuz, 2023	2	сору	800.00	1,600.00
77	Book - LET Comprehensive Reviewer based on 2022 enhance table of specifications (TOS) for the board licensure examination for professional teachers (BLEPT): professional education assessment in learning/Corpuz, 2023	2	сору	653.00	1,306.00

78	Book - LET Comprehensive Reviewer based on 2022 enhance table of specifications (TOS) for the board licensure examination for professional teachers (BLEPT): values education/ De Leon, 2023	2	сору	765.00	1,530.00
79	Book - Managerial Accounting 18th ed./ Garrison, 2024	1	сору	5,687.00	5,687.00
80	Book - Marketing for tourism and hospitality/ Serrano, 2020	1	сору	490.00	490.00
81	Book - Media & information literacy in the 21st century/Basilan, 2021	2	copy	522.00	1,044.00
82	Book - Mga babasahin Hinggil sa kasaysayan ng Pilipinas ikalawang edisyon/Ramos, 2023	2	copy	487.00	974.00
83	Book - Microeconomics: theories and applications 2nd ed/Marcelo, 2023	2	сору	487.00	974.00
84	Book - Milady standard Cosmetology 14 ed/Milady, 2023	1	сору	2,718.00	2,718.00
85	Book - Milk and Milk products technology/Blanda, 2020	1	сору	6,705.00	6,705.00
86	Book - Modern diesel technology: light duty diesel 2nd ed./Bennett, 2022	1	сору	8,455.00	8,455.00
87	Book - Modern Hydronic Heating & Cooling: for residential and light commercial building 4th ed/Siegenthaler, 2023	1	сору	10,950.00	10,950.00
88	Book - National Service training program 2: Citizen empowerment towards community building/ Punzalan, 2023	2	сору	325.00	650.00
89	Book - Natural and curly hair for dummies/Wright, 2023	1	copy	2,897.00	2,897.00
90	Book - Nutrition for sport & exercise 5th ed./Dunford, 2022	1	сору	8,455.00	8,455.00
91	Book - Object oriented analysis and design/Garrett, 2022	1	сору	7,303.00	7,303.00
92	Book - Oil hydraulics and pneumatics/Moss, 2022	1	copy	7,303.00	7,303.00
93	Book - Operations management in tourism and hospitality/Buenaventura, 2023	2	copy	501.00	1,002.00
94	Book - Organizational behavior: concepts, skills and best practices/Moody, 2022	1	copy	7,250.00	7,250.00
95	Book - Outcomes-based practical guide to thesis and capstone project: writing in computing/ Laviña, 2022	2	copy	452.00	904.00
96	Book - Overview of travel and tourism industry/Brown, 2024	1	copy	6,472.00	6,472.00
97	Book - Philippine politics and governance: with 1987 Philippine constitution/ Sanchez, 2023	2	copy	628.00	1,256.00
98	Book - Physical activity towards health and fitness (PATH-FIT dance) : folk dance, cheer dance, contemporary dances, street dance, hip-hop, social dances/ Bulatao, 2022	2	copy	368.00	736.00
99	Book - Physical Activity towards health and fitness I (path-fit 1): Health and wellness, movement education and exercise program/Ambrocio, 2021	2	copy	348.00	696.00
100	Book - Physical activity towards health and fitness path 1 (path-fit 1): health and wellness movement education and exercise program/Punzalan, 2023	1	сору	395.00	395.00
101	Book - Planning a wedding for dummies/Barker, 2022	1	сору	2,980.00	2,980.00
102	Book - Physical education and health: aquatic (basic swimming and mountaineering), rev ed./Latorre, 2023	2	сору	430.00	860.00
103	Book - Practical methods on construction management/Porte, 2022	1	copy	3,205.00	3,205.00
104	Book - Practical research 1/ Maranan, 2023	2	сору	487.00	974.00
105	Book - Practical research 2/ Maranan, 2023	2	copy	452.00	904.00

106	Book - Practicum Manual college of hospitality and tourism management/Banzuelo, 2022	2	copy	550.00	1,100.0
107	Book - Principles of supply chain management: a Balanced approach, 6th ed.Wesner, 2023	1	сору	8,705.00	8,705.0
108	Book - Professional development: a guide to career success/Magalona, 2023	2	сору	430.00	860.0
109	Book - Python for cybersecurity: using python for cyber offense and defense/Poston, III, 2022	1	сору	2,898.00	2,898.0
110	Book - Readings in Philippine History/Bacolod, 2023	2	сору	382.00	764.00
111	Book - Realided: a creative nonfiction/ Basilan, 2020	2	copy	413.00	826.00
112	Book - Research 101: notes and style guide in thesis and dissertation writing for the filipino students/ Ang, 2022	1	сору	418.00	418.00
113	Book - Research writing made easy coping strategies in research writing/Basilan, 2022	2	сору	557.00	1,114.00
114	Book - Revisiting the readings in Philippine History/Baes, 2023	2	copy	522.00	1,044.00
115	Book - Risk Management as applied to safety, security and sanitation 2nd. Ed/Sornoray, 2023	1	copy	418.00	418.00
116	Book - Salad Recipes for Dummies/Peterson, 2023	1	сору	2,700.00	2,700.00
117	Book - Schaum's outline of mathematical methods for business, economics and finance 2nd ed /Levano, 2022	1	сору	2,935.00	2,935.00
118	Book - Schaum's outline: Probability 3rd ed./Lipshultz, 2022	1	сору	2,595.00	2,595.00
119	Book - Simplified OJT methods (on-job-training) on building construction: for fresh engineers & architects/Porte, 2022	1	сору	2,922.00	2,922.00
120	Book - Small Business Management: Launching and growing entrepreneurial ventures 20th ed /Longenecker, 2023	1	copy	8,705.00	8,705.00
121	Book - Soft skills and personality development/ Preston, 2022	1	сору	6,777.00	6,777.00
122	Book - Speech and theater arts/Blanco, 2022	2	сору	628.00	1,256.00
123	Book - Sports and entertainment marketing 5th ed/Kaser, 2022	1	сору	9,905.00	9,905.00
124	Book - Strategic management/Marcelo Jr., 2020	1	сору	550.00	550.00
125	Book - Strategic Marketing Management. simplified moves for Rookies/Naval, 2021	2	сору	410.00	820.00
126	Book - Survey of Afro-Asian Literature/ Cordova, 2024	2	copy	478.00	956.00
127	Book - Sustainable Fashion for Dummies/ Mugabi, 2023	1	сору	1,947.00	1,947.00 8,455.00
128	Book - Technicians guide to programmable controllers 7th ed./Borden, 2023	1	сору	y 8,455.00	
129	Book - The science of psychology: an appreciative view 6th ed/King, 2023	1	copy	5,945.00	5,945.00
130	Book - The teaching and Assessment of Grammar/Bacus, 2021	1	сору	478.00	478.00
131	Book - The teaching and Assessment of literature studies/Bacus, 2022	1	сору	545.00	545.00
132	Book - The Ultimate human body: encyclopedia/Richards, 2022	1	сору	3,450.00	3,450.00
133	Book - Today's technician Automotive Heating & Air Conditioning classroom and shop Manual 7th/Schnubel, 2022	1	сору	10,705.00	10,705.00
134	Book - Total Quality Management 2nd ed./Serrano, 2023	2	сору	662.00	1,324.00
135	Book - Tourism and hospitality marketing/Buenaventura, 2022	2	copy	488.00	976.00
136	Book - Tourism and hospitality research/Cariño, 2021	1	copy	277.00	277.00

137	Book - Training and development 2nd ed/Flores, 2023	2	сору	522.00	1,044.00
138	Book - Trends and Issues in Social Studies/Dizon, 2022	1	copy	522.00	522.00
139	Book - Understanding culture, Society and Politics/Mendoza, 2022	2	сору	692.00	1,384.00
140	Book - Understanding Research design and methods: basic business approach for undergraduate level/Siniguian, 2023	2	сору	488.00	976.00
141	Book - Web programming using PHP & MySQL / Lampawog, 2021	1	copy	522.00	522.00
142	Book - William's nutrition: for health, fitness and sport 13th ed./Rawson, 2024	1	сору	5,865.00	5,865.00
143	Book - Yoga for Dummies 4th ed /Payne, 2023	1	copy	2,718.00	2,718.00
144	Book - Zero waste Cooking for Durnmies/Rust, 2022	1	сору	2,980.00	2,980.00
145	Book - Contemporary Philippine arts from the regions: for senior high school, rev ed Magalona, 2023	2	сору	487.00	974.00
146	Book - Earth & life science: Anthropocene the Epoch of significant Human Influence/Reyes, 2023	1	сору	628.00	628.00
147	Book - Contemporary Philippine arts from the regions: for senior high school, rev ed /Magalona, 2023  Book - Earth & life science: Anthropocene the Epoch of significant Human Influence/Reyes, 2023  Book - Algebra II. All-in-one for Dummies/Sterling, 2022  Book - Fluid mechanics and hydraulics 4th ed /Gillesania, 2015  Book - Solved problems in structural engineering and construction/ Gillesania, 2012  Book - Probability and statistics, 2nd ed /Duaso, 2017  Book - Structural engineering and construction for civil engineer licensure exams, 3rd ed /Gillesania, 2003  Book - Engineering mathematics vol. 1, 3rd ed /Gillesania, 2014  Book - Engineering mathematics vol. 2, 3rd ed /Gillesania, 2014  Book - Civil engineering reference: for licensure examinations, vol. 4, 7th ed /Gillesania, 2020  Book - A new approach to modern linguistic theory/Gupta J. P., 2022  Book - Action research: An essential writing guide for teachers and would-be teachers/Bargo, 2020	1	сору	3,793.00	3,793.00
148	ed./Gillesania, 2015	1	copy		800,00
149	Book - Solved problems in structural engineering and construction/ Gillesania, 2012	1	copy	13000100	800.00
150	2017		сору	033303.50	800.00
151	civil engineer licensure exams, 3rd ed./Gillesania,	1	copy	800.00	800.00
152		1	copy	800.00	800.00
153		1	copy	800.00	800.00
154	Book - Civil engineering reference, for licensure examinations, vol. 4, 7th ed./Gillesania, 2020 Book - A new approach to modern linguistic	lesania, 2020 lem linguistic 1 co sential writing guide 1 co ners/Bargo, 2020	copy	y 3,000.00	1,200.00
155			copy		3,000.00 628.00
156	for teachers and would-be teachers/Bargo, 2020		= 5.50	#10. SEXE	
157	Book - Engineering mathematics vol. 1, 3rd ed / Gillesania, 2014  Book - Engineering mathematics vol. 2, 3rd 1 copy ed / Gillesania, 2014  Book - Civil engineering reference: for licensure examinations, vol. 4, 7th ed / Gillesania, 2020  Book - A new approach to modern linguistic 1 copy theory/Gupta J. P., 2022  Book - Action research: An essential writing guide for teachers and would-be teachers/Bargo, 2020  Book - Administration and Management in school Education/Sharma, 2023  Book - Agricultural machinery Industry/Kuchana, V., 2023  Book - Applied artificial Intelligence/Hopkins, D., 1 copy	10.	5,500.00		
158	V., 2023		copy 5,500.00 copy 5,500.00		4,193.00
159	2023			5,500.00	
160	their benefits/Torphy, 2022	- 00			5,500.00
162	Book - Trends and Issues in Social   1 copy   522.00	4,993.00 748.00			
		Alexaster.	0.000000		
163	Implementation for 2D Mesh topology on Chip network/Shiurkar, 2023		copy	0.000	4,493.00
164	Das, 2023		copy		2,993.00
165	products/ Frost, 2023				3,993.00
166	Tomar, K, 2022	100		Market Services	3,993.00
167	2023	11.0	сору	500000000	4,993.00
168	Seema, 2023		0.000	100000000000000000000000000000000000000	3,900.00
169	management/ Sergote, 2023		сору	5000100001	693.00
170	Book - Essentials of fish Biology/ Calderon, 2023	1	copy	4,500.00	4,500.00

171	Book - Exploring Gender and Society with essays inspired from Pinoy BL series One Day Pag-ibig, paano kaya kung tayo and he's mine/Ecoben, 2023	1	сору	705.00	705.00
172	Book - Filipino sa piling Larang (Akademiko)/Furaque, 2022	2	сору	612.00	1,224.00
173	Book - Food packing technology/Mathews, 2023	1	сору	6,853.00	6,853.00
174	Book - Fundamentals of Carpentry world Manguilimotan, 2021	1	copy	658.00	658.00
175	Book - Fundamentals of cell biology/Reed , 2022	1	сору	4,447.00	4,447.00
176	Book - Fundamentals of Horticulture/ Pollard, 2023	1	сору	4,897.00	4,897.00
177	Book - Fundamenta's of Management Process and Organizational Behavior/Kumar, 2024	1	сору	3,948.00	3,948.00
178	Book - Furniture design and construction with DVD/3G E-Learning, 2023	1	сору	5,353.00	5,353.00
179	Book - Gear Handbook: the design manufacture and applications of gears/Rebello, 2022	1	сору	3,993.00	3,993.00
180	Book - Mathematics in the modern world/ Sirug, 2023 Book - Handbook of electrical	2	copy	1,205.00	2,410.00
181	Engineering/Benjamin, 2023	1	сору	6,450.00	6,450.00
182	Environment/Johnson , 2024	1	copy	6,148.00	6,148.00
183	Book - Information and communications Technology in everyday life/3G E-Learning, 2023	1	сору	5,400.00	5,400.00
184	Book - Insecticides and pesticides methods for crop protection/ Wordsworth, 2023	1	сору	4,948.00	4,948.00
185	Book - International Business/Tiwari,P. K., 2023	1	сору	3,978.00	3,978.00
186	Book - Introduction to Automotive/ Bellete, 2021	2	сору	403.00	806.00
187	Book - Introduction to food engineering/Drake, 2023	1	copy	5,498.00	5,498.00
188	Book - Introduction to food microbiology/Burnett, 2023	1	сору	4,992.00	4,992.00
189	Book - Kapayapaan sa ilang Wika sa Pilipinas/Zorilla, 2016	1	copy	240.00	240.00
190	Book - Microeconomics/Pandya, P. 2022	1	сору	3,500.00	3,500.00
191	Book - Kontekswalisadong Komunikasyon sa Filipino alinsunod sa CMO 57, Serye ng 2017 at Silabus ng Bagong Asignaturang Filipino sa Kolehiyo na inihanda ng tanggol wika 2nd ed./Maranan, 2023	1	copy	572.00	572.00
192	Book - Labor laws and social legislation 2nd Edition/Peñaflor, 2023	1	сору	847.00	847.00
193	Book - Language: an introduction to the study of speech/Sapir, 2022	1	сору	1,793.00	1,793,00
194	Book - Make up artist a career guide (Intermediate)/Palmer K., 2021	1	copy	6,948.00	6,948.00
195	Book - Mobile Applications development Technologies, 2nd ed /3G E-Learning, 2022	1	сору	THE CAMPONE	5,655.00 2,247.00
196	Book - Modern guide to textured crochet; a collection of wonderfully tactile stitches/ Sartori, L., 2021	1	copy		
197	Book - Non-chocolate confectionary manufacturing/3G E-Learning, 2021	1	сору	5,053.00	5,053.00
198	Book - Organization Development 2nd Edition/Flores, M., 2023	2	сору	677.00	1,354.00
199	Book - Philosophy of Education/Sapna, 2023	1	сору	3,947.00	3,947.00
200	Book - Physical Activity towards health and fitness (Path-FIT 2): combative sports and outdoor recreational activities: Arnis, Taekwondo, Boxing, Pancak Silat, Mountaineering, Hiking and Trekking, Camping and Orienteering/Bulatao, 2023	2	copy	528.00	1,056.00
201	Book - Principles of management & organization/Pereda, 2021	1	copy	422.00	422.00
202	Book - Reviewer for licensure examination for psychometrician/Allanigue, 2021	1	сору	632.00	632.00
203	Book - Service management/Agrawal, 2022	1	сору	4,298.00	4,298.00
			and the second second	A CONTRACTOR OF THE PARTY OF TH	

	4				
205	Book - The Tower and the bridge: The new art of structural engineering/Tyagi, S., 2023	1	copy	4,992.00	4,992.00
206	Book - Trends and Issues in doctoral Education: A global perspective/Yudkevich, 2020	1	copy	7,840.00	7,840.00
207	Book - Understanding the self 2nd Edition/ Frando, M, 2022	1	сору	612.00	612.00
208	Book - Welding 101: Basic inputs on shield metal Arc Welding for beginners/Espina 2021	2	copy	467.00	934.00
209	Book - What comes before phonics 2nd ed /Neaum, 2021	1	copy	3,418.00	3,418.00
210	Book - Workplace Health and Safety: Intermediate/Gibson, 2022	1	copy	6,993.00	6,993.00
211	Book - 3G Handy Guide: Banquet Service procedures 2nd Ed. /3G E Learning, 2023	1	сору	6,492.00	6,492.00
212	Book - 3G Handy Guide: Construction operations and supervision 2nd ed/3G E-Learning, 2023	1	сору	6,993.00	6,993.00
213	Book - 3G Handy Guide: HVAC Technician, 2nd Ed /3G E-Learning, 2023	1	copy	6,993.00	6,993.00
214	Book - A Clinician's Guide to CBT for children to young Adults: a companion to think good, feel good and thinking good, feeling better: 2nd Ed. /Stallard, 2021	1	сору	7,495.00	7,495.00
215	structural engineering/Tyagi, S. 2023  Book - Trends and issues in doctoral Education: A global perspectiver/Yudevich, 2020  Book - Understanding the self 2nd Edition/ Frando, M. 2022  Book - Welding 101: Basic inputs on shield metal Arc Welding for beginners/Espina , 2021  Book - What comes before phonics 2nd ed./Neaum, 2021  Book - Workplace Health and Safety: 1 content of the self-self-self-self-self-self-self-self-	сору	4,893.00	4,893.00	
216		1	оору	6,492.00	6,492.00
217		1	сору	6,492.00	6,492.00
218	psychotherapy 3rd Ed. from theory to	1	copy	4,792.00	4,792.00
219		.1	copy	3,293.00	3,293.00
220		1	copy	8,493.00	8,493.00
221		1	сору	5,993.00	5,993.00
222		1	сору	3,292.00	3,292.00
223	handbook for school and district leaders/M Gottlieb, 2022.	1	copy	5,993.00	5,993.00
224	2023	1	copy	6,993.00	6,993.00
225		1	copy	6,993.00	6,993.00
226		1	copy	5,992.00	5,992.00
227		1	copy	6,993.00	6,993.00
228	Book - Basics of Fluids/3G E-Learning, 2024	1	сору	6,993.00	6,993.00
229	Book - Beginning Quantitative Research/M	1	copy	3,792.00	3,792.00
230	Book - Communication and Interpersonal skills in	1	сору	3,493.00	3,493.00
231	Book - Computer Graphics/H. Zubair, 2024	1	сору	7,195.00	7,195.00
232		1	сору	6,493.00	6,493.00
233	Book - Counselling skills/ Postings, 2022	1	copy	3,492.00	3,492.00
234	Book - Crafting qualitative research questions: a prequel to design/Baker, 2022	1	сору	3,292.00	3,292.00
235	Book - Data management & Encryption 2nd Ed /3G E Learning, 2023	1	сору	6,493.00	6,493.00
236	Book - Digital media and child and adolescent mental health: a practical guide to understanding the evidence/M. O' Reilly, 2021	1	copy	3,492.00	3,492.00
237	Book - Doing Research in sport and exercise: a	1	сору	6,792.00	6,792.00
231	student's guide/Smith, 2022				

239	Book - Education of gifted and talented/3G E- Learning, 2023	1	copy	7,292.00	7,292.0
240	Book - Electric motor drives 1st ed/Sharma, 2023	1	сору	6,948.00	6,948.0
241	Book - Electrical wiring industrial 16th EdiFlerman, 2020	1	copy	5,992.00	5,992.0
242	Book - Electronics Lab/Shekhar, 2023	1	сору	6,948.00	6,948.0
243	Book - Engineering vibrations/Meena, 2022	1	copy	6,948.00	6,948.0
244	Book - Essential of Athletic Injury Management 12th ed /Prentice, 2023	1	copy	7,247.00	7,247.0
245	Book - Evaluating Research: methodology for people who need to read research, 3rd ed /F: Dane, 2023	1	сору	6,792.00	6,792.0
246	Book - Exploring Rating scale functioning for survey research/Wind, 2023	1	copy	4,193.00	4,193.0
247	Book - Food fermentation/U. Kumar, 2022	1	сору	6,993.00	6,993.0
248	Book - Fast food operations/ Prakash, 2022	1	copy	6,993.00	6,993.0
249	Book - Fundamentals of Mechanical Engineering and Mechatronics/ D. S. Kumar, 2022	1	copy	3,992.00	3,992.0
250	Book - Games and physical Education in schools	1	copy	6,993.00	6,993.0
251	1st ed/Kumar, 2023  Book - How to write a master's thesis, 3rd ed/Bui,	1	сору	4,893.00	4,893.0
252	Book - Introduction to adapted Physical exercises	1	copy	6,493.00	6,493.0
253	and sports/3G E Learning, 2023  Book - Introduction to data communication and	1	copy	6,493.00	6,493.0
25.4	networks/3G E Learning, 2023		52	. 7/1-02-02	17. 35.15
254	Book - Introduction to kinesiology/Pandya, 2023	1	copy	8,493.00	8,493.00
255	Book - Introduction to special needs and inclusive Education/3G Learning, 2023	1	copy	6,493.00	6,493.0
256	Book - Introduction to transportation Engineering/G. Nan, 2022	1	сору	2,292.00	2,292.0
257	Book - IT Skills and Technology/ Arora, 2022	1	copy	3,992.00	3,992.00
258	Book - Little Quick Fix: Research Ethics/Poth, 2021	1	сору	1,193.00	1,193.00
259 .	Book - Management of sports events 2nd Ed/3G E Learning, 2023	1	сору	6,492.00	6,492.00
260	Book - Management of Sports Infrastructure 2nd Ed./3G E Learning, 2023	1	сору	6,492.00	6,492.00
261	Book - Marketing research: a managerial approach/ Al Marshall, 2023	1	copy	5,492.00	5,492.00
262	Book - Motor vehicle Technology/Kumar, 2022	1	сору	6,993.00	6,993.00
263	Book - Numerical methods for Engineers and scientists/Arora, 2021	1	copy	3,992.00	3,992.00
264	Book - Organisation, Methods and supervision in physical education/Perez, 2023	1	сору	6,993.00	6,993.00
265	Book - Principles of Engineering Geology/Singh, 2023	1	сору	6,993.00	6,993.00
266	Book - Professional practice for architects and project managers/Chapell , 2020	1	сору	8,493.00	8,493.00
267	Book - Programming logic and design 2nd Ed/ 3G	1	сору	6,493.00	6,493.00
268	E Learning, 2023  Book - Qualitative Data collection tools: Design,	1	copy	3,292.00	3,292.00
269	development and applications/Billups, 2021  Book - Research for designers A guide to	1	сору	4,893.00	4,893.00
270	methods and practice/Muratovski, 2022  Book - School Counseling to close opportunity  Gaps: A social justice and antiracist framework for success, 2nd ed:/McCoy, 2022	1	сору	4,192.00	4,192.00
	Book - Shelf-life studies in food science/Marotirao,	1	copy	9,893.00	9,893.00
72	2023 Book - Sequence Analysis/ Raab, 2023	,		2 202 00	0.000.
73	Book - Software design, 2nd Ed/3G E Learning.	1	copy	3,292.00 7,292.00	3,292.00 7,292.00
74	2022 Book - Sport and exercise psychology/3G E-	1	сору	6,493.00	6,493.00
75	Book - Sports psychology for Dummies 2nd	1	copy	4,992.00	4,992.00
	ed /Smith, 2022 Book - Standards and Ethics for counseling in	1	сору	4,793.00	4,793.00

277	Book - Surveying Fundamentals and Advance practices, 2nd ed./Chandak, 2022	1	copy	3,992.00	3,992.00
278	Book - Tests and measurements in physical	1	сору	6,893.00	6,893.00
279	Education, 1st ed./Kumar, 2023  Book - The coding manual for qualitative researchers 4th ed./Saldana, 2021	1	сору	4,893.00	4,893.00
280	Book - The physical universe 18th Ed/Krauskopf, 2024	1	copy	7,292.00	7,292.00
281	Book - The psychology of sex and gender 2nd Ed./Bosson, 2022	1	сору	4,095.00	4,095.00
282	Book - The Routledge handbook of service user involvement in human services reasearch and education/ Mclaughlin, 2021	1	copy	7,593.00	7,593.00
283	Book - The New Filipino-Filipino with English Dictionary (FFD)(Latest Edition & Hard bound) 2023 edition/ 2023	1	copy	9,948.00	9,948.00
284	Book - The New Philippine Almanac-Millennial edition/ 2023	1	copy	9,948.00	9,948.00
285	Book - English-Filipino-Hiligaynon/ 2023	1	сору	4,947.00	4,947.00
286	Book - A textbook of energy environment and ecology/Srivastava, 2022	1	copy	1,990.00	1,990.00
287	Book - An invitation to social construction: co- creating the future, 4th ed./Gergen, 2023	1	сору	4,590.00	4,590.00
288	Book - Automotive engines: Diagnosis, Repair, and Rebuilding, 9th ed./Gilles, 2024	1	сору	6,690.00	6,690.00
289	Book - Automotive Maintenance and light repair 2 ed/Thompson, 2020	1	сору	3,590.00	3,590.00
290	Book - Automotive Technology: a systems approach vol 1 & Vol. 2 , 6th ed/Erjavec, 2023	1	сору	3,590.00	3,590.00
291	Book - Event planning wine and whisky/3G E learning, 2024	1	copy	4,188.00	4,188.00
292	Book - Basic Electrical Engineering for First year B. Tech/B E. Students/Gupta, 2023	1	сору	2,990.00	2,990.00
293	Book - Basic Knowledge of Automotive Servicing/3G E-Learning, 2024	1	copy	4,190.00	4,190.00
294	Book - Becoming a beautician: the complete guide/Lancaster, 2020	1	сору	4,990.00	4,990.00
295	Book - Carpentry: residential and commercial (intermediate)/Larke, 2022	1	сору	5,090.00	5,090.00
296	Book - Coaching baseball successfully/Lucca, 2024	1	сору	3,790.00	3,790.00
297	Book - Communication and artificial intelligence/Christensen, 2022	1	сору	6,490.00	6,490.00
298	Book - Communication Systems II (advanced communication systems)/Gautam, 2022	1	сору	1,990.00	1,990.00
299	Book - Computer and Information Science. An Interdisciplinary Approach/Clark, 2023	1	сору	5,190.00	5,190.00
300	Book - Contemporary dance lighting: the poetry and nitty-gritty/Press, 2023	1	осру	4,590.00	4,590.00
301	Book - Contemporary performance lighting experience, creativity and meaning/Graham, 2023	1	сору	2,790.00	2,790.00
302	Book - Contemporary sport management, 7th ed./Pedersen, 2022	1	сору	12,345.00	12,345.00
303	Book - Dancing to the Orum Machine How Electronic Percussion Conquered the World/LeRoy, 2023	1	сору	2,190.00	2,190.00
304	Book - Destination Dancefloor: A global atlas of dance music and club culture- from London to Tokyo, Chicago to Berlin and beyond/Dick., 2022	1	сору	2,590.00	2,590.00
305	Book - Digital system design/Gupta, 2022	1	copy	1,890.00	1,890.00
306	Book - Draping for apparel design, 4th ed /Armstrong, 2022	1	copy	9,890.00	9,890.00
307	Book - Educational Psychology, 8th ed/Santrock, 2024	1	сору	6,490.00	6,490.00
308	Book - Electric drive/Chilikin, 2023	1	сору	3,490.00	3,490.00
309	Book - Electric vehicle: (green and sustainable transportation)/Tiwari, 2023	1	copy	1,990.00	1,990.00
310	Book - Electromagnetics and transmission lines: essentials of Electrical Engineering, 2nd ed/Strangeway, 2023	1	copy	11,145.00	11,145.00

311	Book - Empowering teacher leadership : strategies and systems to realize our school potentials/visone, 2023	1	copy	3,490.00	3,490.00
312	Book - Engineering fundamentals and problem solving 8th ed./Eide, 2023	1	сору	5,590.00	5,590.00
313	Book - Enhancing Learning through Formative Assessment and Feedback, 2nd ed /Irons, 2022	1	сору	3,290.00	3,290.00
314	Book - Environmental geology/Montgomery, 2024	1	сору	5,690.00	5,690.00
315	Book - Environmental science/Tolentino, 2023	2	сору	428.00	856.00
316	Book - Event planning food fests/3G E learning, 2024	1	copy	4,190.00	4,190.00
317	Book - Explicit english teaching/Needham, 2023	1	сору	2,690.00	2,690.00
318	Book - Exercise physiology: theory and application to fitness and performance, 12th ed./Powers, 2024	1	copy	6,090.00	6,090.00
319	Book - Fashion entrepreneurship: the creation of the global fashion business/Karra, 2022	1	copy	1,590.00	1,590.00
320	Book - Fashion, aesthetics, and ethics : past and present/Wallenberg, 2023	1	сору	2,890.00	2,890.00
321	Book - Fiffy key thinkers in psychology, 2nd ed./Forcythe, 2023	1	сору	4,190.00	4,190.00
322	Book - Fitness Trainer essentials for the personal trainer, 4th ed./Atridge, 2023	1	copy	7,490.00	7,490.00
323	Book - Football for Dummies 7th ed./Long. 2023	1	copy	2,390.00	2,390.00
324	Book - Foundations of Environmental Engineering/Cooper, 2023	1	copy	3,690.00	3,690.00
325	Book - Fundamentals of power electronics/ Jacobs, 2023	1	copy	5,490.00	5,490.00
326	Book - Gastro-Fashion: from Haute Cuisine to Haute Couture/Geczy, 2022	1	сору	2,890.00	2,890.00
327	Book - Hair styling intermediate/Murphy, 2022	1	сору	5,090.00	5,090.00
328	Book - Historical Perspectives on Sustainable Fashion: Inspiration for Change, 2nd ed./ Holroyd, 2023	1	copy	2,790.00	2,790.00
329	Book - Illustrated men: Drawing and rendering the male fashion figure/O'neal, 2023	1	сору	3,690.00	3,690.00
330	Book - Individual based models of cultural evolution: a step-by-step guide using R/Acerbi, 2023	1	copy	6,390.00	6,390.00
331	Book - Industrial Automation: systems and engineering/Williamson, 2023	1	сору	5,490.00	5,490.00
332	Book - Infusing Self-Advocacy: into Physical Education and Health Education/Childs, 2023	1	сору	4,090.00	4,090.00
333	Book - Initial language teacher education/Maggloii, 2023	1	сору	4,690.00	4,690.00
334	Book - Introduction to Tribology/Davidson, 2023	1	copy	5,490.00	5,490.00
335	Book - Jazz, 14th ed/Tanner, 2024	1	copy	5,690.00	5,690.00
336	Book - Manual of stuctural kinesiology 22nd ed /Floyd, 2024	1	сору	5,990.00	5,990.00
337	Book - Modern control engineering/Howell, 2023	1	copy	5,490.00	5,490.00
338	Book - Modern Engineering graphics and design/McKenzie, 2022	1	copy	6,490.00	6,490.00
339	Book - Object oriented programming using C++/Arora, 2023	1	сору	2,590.00	2,590.00
340	Book - Optical fiber communication/Katiyar, 2022	1	сору	2,990.00	2,990.00
341	Book - Plumbing technology design and installation, 4th ed./Smith, 2020	1	copy	2,990.00	2,990.00
342	Book - Physical geography, 12th ed/Petersen, 2022	1	сору	10,890.00	10,890.00
343	Book - Professional makeup artist: the ultimate guide/Payne, 2023	1	сору	5,290.00	5,290.00
344	Book - Repeat printed pattern for interiors/Farley, 2023	1	сору	2,790.00	2,790.00
345	Book - Residential Surveying Matters and Building Terminology: in alphabetical order /Goring, 2023	1	сору	5,990.00	5,990.00
346	Book - Retail buying from basic to fashion, 7th ed./ Clodfelter, 2023	1	сору	8,290.00	8,290.00

347	Book - Rock guitar for Dummies 2nd ed./ Chappell, 2023	1	copy	2,390.00	2,390.00
348	Book - Security and risk assessment facility and event managers/Hall, 2023	1	copy	8,090.00	8,090.00
349	Book - Shoes : an illustrated history, rev. ed /Shawcross, 2023	1	сору	3,890.00	3,890.00
350	Book - Soldering, Brazing and welding a manual of techniques/Pritchard, 2018	1	сору	1,590.00	1,590.00
351	Book - Sounds of English worldwide/Hickey, 2023	1	сору	5,690.00	5,690.00
352	Book - Strategic sport marketing, 5th ed./Karg, 2022	1	copy	5,190.00	5,190.00
353	Book - Sustainable fashion for Dummies/ Mugabi, 2023	1	copy	1,890.00	1,890.00
354	Book - Sustainable fashion management/Henninger, 2023	1	copy	5,890.00	5,890.00
355	Book - System Analysis and Design/Jha, 2023	1	0000	1,990.00	1,990.00
356			сору	The second second second second	The second secon
	Book - Teach Yourself VISUALLY Photoshop Elements/Buckl, 2022	1	copy	2,990.00	2,990.00
357	Book - Teaching in todays inclusive classrooms: a universal design for learning approach/ Gargiulo, 2023	1	copy	9,990.00	9,990.00
358	Book - Telecommunications essentials/Warner, 2023	1	copy	5,490.00	5,490.00
359	Book - Textiles and Fashion: From Fabric Construction to Surface Treatments/Udale, 2023	1	copy	2,490.00	2,490.00
360	Book - The contemporary world/Acero, 2023	2	сору	448.00	896.00
361	Book - The fairchild books dictionary of Fashion, 5th ed./Keiser, 2023	1.	copy	7,190.00	7,190.00
362	Book - The fashioned body: fashion, dress and modern social theory, 3rd ed./Joanne Entwistle, 2023	1	сору	2,790.00	2,790.00
363	Book - The football book : the teams, the rules, the leagues, the tactics/The Tactics, 2023	1	copy	1,990.00	1,990.00
364	Book - Thinking critically and ethically about research for education: engaging with voice and empowerment in international contexts/Fox, 2022	1	сору	4,590.00	4,590.00
365	Book - Transducers sensors and display systems (for engineering students)/Kurnar, 2022	1	copy	1,990.00	1,990.00
366	Book - Understanding Nutrition/Whitney, 2023	1	сору	9,990.00	9,990.00
367	Book - Understanding the self an outcomes based education approach/F austino Jr., 2023	2	сору	450.00	900.00
368	Book - Welding licensing exam study guide, 2nd ed./Miller, 2022	1	copy	2,990.00	2,990.00
369	Book - Wireless communication networks and systems/Sparks, 2022	1	сору	5,190.00	5,190.00
370	Book - Woodworking 2nd ed /Strong, 2023	1	сору	2,890.00	2,890.00
371	Book - Geometry: 1001 practice problems for Dummies /Ma, 2022	1	copy	3,793.00	3,793.00
372	Book - Statistics: 1001 practice problems for Dummies /by The Experts at Dummies, 2022	1	сору	3,793.00	3,793.00
373	Book - Physics 1:501 practice problems for Dummies /by The Experts at Dummies, 2022	1	сору	3,793.00	3,793.00
374	Book - A course in Number Theory/Kumar, 2023	1	сору	6,793.00	6,793.00
375	Book - A course module for teaching internship/ Reyes, 2021	1	сору	720.00	720.00
376	Book - A modular approach in advanced writing/Pagalilauan, 2023	2	сору	895.00	1,790.00
377	Book - A teachers guide on Special education/Penetrante, 2021	1	copy	548.00	548.00
378	Book - A visual reference to Housekeeping 2nd ed/ 3G E-Learning, 2023	1	сору	8,493.00	8,493.00
379	Book - Applied business tools and technologies in hotel and restaurant management (HRM), 1st ed/Gonzalo, 2023	1	сору	698.00	698.00
380	Book - Art appreciation, 2nd ed./Solmerano, 2023	1	сору	750.00	750.00
381	Book - Arts: beyond borders (Contemporary arts from the region)/Constantino, 2023	1	copy	650.00	650.00
382	Book - Automotive engineering: automotive	1	сору	7,692.00	7,692.00
	transmissions and transaxles, 1st ed/Salas, 2023				

384	Book - Biology workbook for Dummies, 2nd ed /Kratz, 2022	1	copy	2,993.00	2,993.00
385	Book - Business Organization Operations & Management/Morales, 2021	1	сору	488.00	488.00
386	Book - Computer Architechture in Engineering/Johnson, 2023	1	сору	11,050.00	11,050.00
387	Book - Computer Engineering Drafting and Designs/Osborne, 2023	1	сору	11,050.00	11,050.00
388	Book - Computer graphics science/Singh, 2023	1	сору	8,448.00	8,448.00
389	Book - Dance for fitness and health/Taeza, 2023	1	copy	1,187.00	1,187.00
390	Book - Digital Lighting and rendering/Kishore, 2023	1	copy	8,493.00	8,493.00
391	Book - Disaster and Risk reduction management with covid-19 modules, 2nd ed/Mogol, 2022	1	copy	898.00	898.00
392	Book - Ethics/Mondares, 2024	2	сору	1,193.00	2,386.00
393	Book - Financial Management/Acierto, 2022	1	сору	1,483.00	1,483.00
394	Book - Food and beverage services/Rosalda, 2021	1	copy	992.00	992.00
395	Book - Food Beverages and labor cost control/Velasquez, 2022	1	сору	1,012.00	1,012.00
396	Book - Foundations of special and inclusive education/Custodio, 2021	1	copy	1,093.00	1,093.00
397	Book - Food processing/Jaravata, 2021	1	copy	1,012.00	1,012.00
398	Book - Fundamentals in Food service Operations/Baliste, 2022	1	сору	1,012.00	1,012.00
399	Book - History of Asian Nations 9th ed/Zaide, 2022	1	copy	1,693.00	1,693.00
400	Book - Integration concepts of linear algebra and analytic geometry/Meadows, 2024	1	сору	9,393.00	9,393.00
401	Book - International cuisine/Victoriano, 2022	1	copy	1,012.00	1,012.00
402	Book - Introduction to social work/de Guzman, 2023	2	copy	1,183.00	2,366.00
403	Book - Introduction to Philippine government & politics with basic constitutional principles 2nd ed/ Riodique, 2023	1	сору	988.00	988.00
404	Book - Introduction to Public administration (learning modules)/Chakas, 2022	1	сору	877.00	877.00
405	Book - Introduction to Public administration 2nd ed/ Bihasa, 2022	1	сору	1,237.00	1,237.00
406	Book - Kitchen essentials and basic food preparation/ Velasquez, 2023	1	сору	1,012.00	1,012.00
407	Book - Life and works of Jose Rizal/Lomibao, 2024	2	copy	1,072.00	2,144.00
408	Book - Living in the IT ERA/Marabe, 2024	- 1	сору	1,072.00	1,072.00
409	Book - Local matters, experiences in autonomy, decentralization and beyond, a book of reading vol. 5/ Alampay, 2020	1	сору	1,442.00	1,442.00
410	Book - Mathematics in modern world/Reynoso, 2024	2	сору	1,188.00	2,376.00
411	Book - Mathematics of investment 4th ed/Sirug, 2023	2	copy	987.00	1,974.00
412	Book - Mga sulat: 25 kuwento ng paglingap/Antonio, 2022	1	сору	1,122.00	1,122.00
413	Book - Modular approach to art appreciation/Inocian, 2021	1	copy	1,308.00	1,308.00
414	Book - Movement literacy and engagement: a text and workbook on physical activity towards health and fitness(PATHFit 1)/Cobar, 2022	1	copy	878.00	878.00
415	Book - Philippine electrical code part 2: 2020/IIEE, 2021	1	сору	3,482.00	3,482.0
416	Book - Pagkaing Pilipino: wastong pagluluto at paghahanda (Mahigit 350 putahi at inuming katutubo at makabago)/Claudio, 2007	1	copy	368.00	368.0
417	*Book - Philippine Folk Dance Volume 6/Aquino, 1975	1	copy	877.00	877.0
418	Book - Philippine Folk Dances Volume 1, rev ed /Aquino, 1953	1	сору	877.00	877.0
419	Book - Philippine Folk Dances Volume 2 /Aquino, 1960	1	copy	877.00	877.0
420	Book - Philippine Folk Dances Volume 3/Aquino, 1960	1	copy	877.00	877.0

421	Book - Physical Activities towards health and fitness PATH-Fit 2 (Exercise-Based Fitness Activities)/Baffecer, 2023	2	сору	768.00	1,536.00
422	Book - Living in the Information Technology Era/ Abante, 2023	1	сору	1,585.00	1,585.00
423	Book - Plane Geometry with basic Trigonometry: A simplified approach, revised edition/Sarmiento, 2022	2	сору	938.00	1,876.00
424	Book - Robotics: Design, construction and Applications/Weaver, A., 2023	1	copy	9,393.00	9,393.00
425	Book - Social Science and Philosophy/Molina, 2023	2	copy	1,072.00	2,144.00
426	Book - Software Architect/Bell, 2023	1	сору	7,892.00	7,892.00
427	Book - Speak Without Fear Public Speaking drills for beauty pageants, extemporaneous, job interview, tongue twisters, hosting, other speaking engagements/Sygaco, 2022	1	copy	1,088.00	1,088.00
428	Book - Sports in the Philippines: History, Values, Spirituality/Alaurin, 2021	1	copy	1,448.00	1,448.00
429	Book - Statistical Analysis for business/Sirug, 2023	2	сору	1,088.00	2,176.00
430	Book - Team Sports/Milano, 2022	1	сору	1,100.00	1,100.00
431	Book - The national building code of the philippines with its revised implementing Rules and regulations/Foz, 2023	2	сору	1,613.00	3,226.00
432	Book - Theoretical and practical Textbook on lesson planning/Sanchez, 2024	2	copy	1,112.00	2,224.00
433	Book - Ultimate learning guide to Technology Livelihood, TechVoc Education: based on the 2022 enhanced table of specification for the licensure examination for professional teachers/Balita, 2023	1	copy	895.00	895.00
434	Book - Your career in animation: how to survive and thrive 2nd ed/Levy, 2021	1	copy	992.00	992.00
435	Book - The Teaching Profession/Lomibao, 2023	1	сору	1,112.00	1,112.00
436	Book - A design-driven guide for entrepreneurs: strategies for starting up in a multiverse/Alexander, 2023	1	copy	3,900.00	3,900.00
437	Book - A concise introduction to thermodynamics for physicist/Faisca, 2023	্ব	сору	5,552.00	5,552.00
438	Book - Academic leadership: enhancing school effectiveness/Mukchopadhyay, 2023	1	copy	3,700.00	3,700.00
439	Book - Anatomy and physiology: All in One for Dummies/Odya, 2023	1	сору	3,833.00	3,833.00
440	Book - Applied Psychology 2nd ed/Davey, ed., 2023	1	сору	5,753.00	5,753.00
441	Book - Architectural Designing and planning/3G E-Learning, 2023	1	сору	5,698.00	5,698.00
442	Book - Astronomy for Dummies 5th ed/Maran, 2023	1	сору	2,393.00	2,393.00
443	*Book - Basics of cost Accounting/Souad, 2024	1	copy	5,500.00	5,500.00
444	Book - Beauty care services basics/3G E- Learning, 2024	1	copy	3,948.00	3,948.00
445	Book - Big weaving on a small loom/Daly, 2022	_1_	сору	2,023.00	2,023.00
446	Book - Boxing: the complete guide to training and fitness/3G E-Learning, 2022	1	copy	5,698.00	5,698.00
447	Book - Buildings for people: Responsible real estate development and planning/Hollander, 2023	1	copy	5,755.00	5,755.00
448	Book - Civil Engineering, design, construction and maintenance of building/Wang, 2023	4	copy	6,500.00	6,500.00
449	Book - Climate Risks: an investor's field guide to identification and assessment/Buhr, 2023	1	copy	4,798.00	4,798.00
450	Book - Climate variability and tropical cyclone activity/ Chu , 2022	1	copy	8,285.00	8,285.00
451	Book - Construction grammar: the stucture of English/Hoffman, 2022	1	сору	4,052.00	4,052.00
452	Book - Control Engineering Theory and applications/Alam, 2023	1	сору	5,555.00	5,555.00
453	Book - Cosmetics and treatments of body parts/3G E-Learning, 2023	1	сору	5,698.00	5,698.00

783011	Book - Crafting Authentic paper flowers: the beginner's guide to creating life like paper blooms with step-by-step projects/Longhurst, 2021	1	сору	2,023.00	2,023.00
455	Book - Creating a strong culture and positive climate in schools: building knowledge to bring about improvement/ Hart, 2022	1	сору	2,015.00	2,015.00
456	Book - Dance on! dancing through life/Burridge, 2023	1	copy	4,440.00	4,440.00
457	Book - Dance Research Mehodologies: ethics, orientations, and practices/Candelario, ed., 2023	1	сору	4,070.00	4,070.00
458	Book - Digital Communication and media linguistics/Gnach, 2023	1	сору	4,157.00	4,157.00
459	Book - Digital image processing with c++: implementing reference algorithms with the Cimg library/Tschumperle, 2023	1	сору	4,935.00	4,935.00
460	Book - Digital Die-cutting: getting started with your machine/Strutt, 2022	1	сору	1,643.00	1,643.00
461	Book - Discourse syntax: english grammar beyond the sentence/Dorgeloh, 2023	1	сору	3,637.00	3,637.00
462	Book - Electrical Machine Rewinding/3G E- Learning, 2023	1	сору	5,500.00	5,500.00
463	Book - Electrical Technology 2nd ed/3G E- Learning, 2023	1	сору	5,500.00	5,500.00
464	Book - Elementary Number theory/Arias, 2024	1	copy	5,500.00	5,500.00
465	Book - Engineering economy 9th ed/Blank, 2024	1	сору	5,278.00	5,278.00
466	Book - Essentials of Hydraulics/Julien, 2022	1	copy	6,700.00	6,700.00
467	Book - Ethical Engineering, a practical guide with case studies/Schlossberger, 2023	1	copy	6,000.00	6,000.00
468	Book - Financial Accounting/Khandelwal, 2024	1	copy	5,500.00	5,500.00
469	Book - Forming and finishing/Stephens, 2023	1	copy	8,400.00	8,400.00
470	Book - Fundamentals of food and beverage - service management/Bedi, 2023	1	copy	3,798.00	3,798.00
471	Book - Global Almospheric and Oceanic Modeling: Fundamental equations/Staniforth, 2022	1	сору	10,352.00	10,352.00
472	Book - Global warming of 1.5 C/Delmotte, ed., 2022	1	сору	10,352.00	10,352.00
473	Book - Grief work in addictions counseling/Furr, ed , 2022	1	сору	3,602.00	3,602.00
474	Book - Handmade clay jewelry: a beginner's guide to creating stunning polymer earrings, necklaces and more/Alfen, 2022	1	copy	2,150.00	2,150.00
475	Book - Heat Transfer Principles/Magdaleine, 2024	1	сору	5,500.00	5,500.00
476	Book - Hydrology: an introduction 2nd ed /Brutsaert, 2023	1	сору	6,757.00	6,757.00
477	Book - Identity and digital Communication: concepts, theories, practices/Cover, 2023	1	copy	4,318.00	4,318.00
478	Book - Information Security 3rd ed./3G E- Learning, 2023	1	сору	5,700.00	5,700.00
479	Book - Introduction to management/ Arif, 2024	1	copy	5,498.00	5,498.00
480	Book - Introduction to computer Programming and Web designing/3G E-Learning, 2023	1	copy	5,700.00	5,700.00
481	Book - Introduction to number theory/Hunacek, 2023	1	copy	4,815.00	4,815.0
482	Book - Introductory mining engineering/Howard, 2023	1	сору	6,500.00	6,500.0
483	"Book - Joyful Stitch combinations. 350 embroidery designs: seams & samplers/Bothell, 2022	1	copy	1,645.00	1,645.0
484	Book - Knitting Patterns for Dummies/Porter, 2023	1	сору	2,395.00	2,395.0
485	Book - Leather Pyrography/3G E-Learning, 2021	1	сору	5,500.00	5,500.0
486	Book - Leisure and Recreation Management, 2nd ed./3G E-Learning, 2023	1	copy	5,700.00	5,700.0
487	Book - Life-span Development 19th ed./Santrock, 2024	1	copy	5,805.00	5,805.0
488	Book - Lifetime Physical Fitness and Wellness: a personalized program 16th ed./Hoeger, 2022	1	copy	9,855.00	9,855.0
489	Book - Logic Pro for dummies, 3rd ed/English, 2023	1	copy	2,875.00	2,875.0
490	Book - Lubrication theory/Montgomery, 2023	1	сору	8,498.00	8,498.0
491	Book - Mathematics for physical Chemistry 5th ed/Mortimer, 2024	1	copy	6,235.00	6,235.0

492	Book - Make your first A-line skirt, one great fitting pattern, a few simple skills, endless possibilities/ Giammalva, 2022	1	copy	1,645.00	1,645,00
493	Book - Mathematica for physicist and Engineers/Kumar, 2023	1	copy	8,635.00	8,635.00
494	Book - Measuring Instruments, electrostatic and DC machines/3G E-Learning, 2023	1	сору	5,698.00	5,698.00
495	Book - Metrology/Dickerson, 2023	1	сору	8,500.00	8,500.00
496	Book - Nails and Standard Foundations (bundle 2vol.) /Milady, 2021	1	сору	11,500.00	11,500.00
497	Book - Natural Dyeing: learn how to create colour and dye textiles naturally/Davey, 2022	1	сору	2,025.00	2,025.00
498	Book - Organization and Administration in sports/3G E-Learning, 2023	ŧ	copy	5,700.00	5,700.00
499	Book - Nature's landscapes: crochet blankets/Naugle, 2021	1	copy	885.00	885.00
500	Book - Professional Hairstyling: the complete guide/Thomas, 2023	1	сору	6,500.00	6,500.00
501	Book - Qualitative Research in Education: a users' guide 4th ed /Lichtman, 2023	1	copy	6,045.00	6,045.00
502	Book - Reflective practice in the sport and exercise sciences: critical perspectives, pedagogy, and applied case studies, 2nd ed./Cropley, ed., 2023	1	copy	4,688.00	4,688.00
503	Book - Research Design 6e: qualitative, quantitative, and mixed methods approaches 6th ed /Creswell, 2023	1	copy	6,375.00	6,375.00
504	Book - Sketchup for interior design: 3D Visualizing, designing and space planning 2e/Cline, 2023	1	copy	5,275.00	5,275.00
505	Book - Social issues in sport communication, you make the call/Rentner, ed., 2023	1	сору	5,305.00	5,305.00
506	Book - Simply stitched with punch needle/Higuchi, 2022	1	сору	1,645.00	1,645.00
507	Book - Sociology for physical education and sports coaching/Light, 2023	1	сору	4,320.00	4,320.00
508	Book - Sport analytics in practice with R/Kwartler, 2022	1	сору	9,120.00	9,120.00
509	Book - Sports psychology for dummies 2nd Ed./ Smith, 2022	1	сору	2,585.00	2,585.00
510	Book - Statistical methods for climate scientists/Delsole, 2022	1	сору	7,295.00	7,295.00
511	Book - Strategic planning and policy/Afemei, 2024	1	сору	5,500.00	5,500.00
512	Book - Teaching a Diverse primary curriculum/Doull, 2022	1	copy	2,912.00	2,912.00
513	Book - Teaching English through ELA, mathematics, science and social studies: a content-based language teaching approach/Peng, 2023	1	сору	4,442.00	4,442.00
514	Book - Teaching systematic synthetic phonics in primary schools 4th ed/Jolliffe, 2022	1	copy	2,912.00	2,912.00
515	Book - Technology and language teaching/Stickler, 2022	1	сору	2,285.00	2,285.00
516	Book - Textile designing/3G E-Learning, 2023	1	copy	5,655.00	5,655.00
517	Book - Textiles: concepts and principles 4th ed/ Elsasser, 2022	1	copy	8,288.00	8,288.00
518	Book - The advanced art of baking 3rd edition/3G E-Learning, 2023	1	copy	5,655.00	5,655.00
519	Book - The Atmospheric General Circulation/Wallace, 2023	1	copy	7,277.00	7,277.00
520	Book - The changing flow of energy through the climate system/Trenberth, 2022	1	copy	4,677.00	4,677.00
521	Book - The ethical coaches handbook, a guide to developing ethical maturity in practice/Smith, ed., 2023	1	copy	4,070.00	4,070.00
522	Book - The ocean and cryosphere in a changing climate: special report of the intergovernmental panel on climate change/Portner, ed., 2022	1	сору	10,352.00	10,352.00
523	Book - The semantics of case/Kagan, 2022	1	сору	3,532.00	3,532.00
524	Book - Thermodynamics: an engineering approach 10th ed./Cengel, 2024	1	сору	5,278.00	5,278.00
525	Book - Water a critical introduction/Meehan, 2023	1	сору	3,740.00	3,740.00

526	Book - Weightlifting the complete guide to training and fitness/3G E-Learning, 2022	1	сору	5,700.00	5,700.00
527	Book - Welding basics/3G E-Learning, 2024	1	copy	3,950.00	3,950.00
528	Book - Yoga: the ultimate guide/White, 2023	1	copy	6,498.00	6,498.00
529	Book - Meteorology Today: an introduction to weather, climate, and the environment, 13th ed /Ahrens, 2022	1	сору	12,500.00	12,500.00
530	Book - Basic knowledge of electrical Technology/3G E-Learning, 2024	1	сору	3,948.00	3,948.00
531	Book - Aruga: mga sanaysay ng pagtanggap at paglingap/Rodriguez, 2022	1	copy	1,042.00	1,042.00
532	Book - Railway Engineering: design construction and operation/Bush, 2023	1	сору	6,495.00	6,495.00
533	Book - Research Design: why thinking about design matters/ Cheek, 2023	1	copy	10,750.00	10,750.00
534	Book - Sanguniang Aklat ng grammatika at pagbuo ng mapa sa wika/Alvarado, 2023	2	copy	453.00	906.00
535	*Book - Sinesosyedad: panunuri ng piling pelikulang panlipunan/De Leon, 2024	2	copy	590.00	1,180.00
536	Book - Principles of radical CV phonology: a theory of segmental and syllabic structure/ van der Hulst, 2022	1	copy	3,488.00	3,488.00
537	Book - Analysing Qualitative data in psychology 3rd ed /Evanthia Lyons, 2021	1	copy	5,393.00	5,393.00
538	Book - Ang wikang Pambansa at Amerikanisasyon: isang kasaysayan ng pakikihamok ng Filipino para maging wikang pambansa/Almario, 2023	1	сору	1,685.00	1,685.00
539	Book - Babaylan Sing back. Philippine Shamans and voice, Gender and place/Nono, 2021	1	copy	1,043.00	1,043.00
540	Book - BłOlente: mga Bagong Katha sa Danas ng Dahas at Banwa/Tolentino, 2023	1	copy	1,945.00	1,945.00
541	Book - Computer fundamentals/Revano, 2023	1	сору	990.00	990.00
542	Book - Essential Research Methods in Psychology/ Barnyard, 2022	1	сору	4,893.00	4,893.00
543	Book - Huni at pakpak: mga dula, mga sanaysay/Cleto, 2022	:1	copy	1,623.00	1,623.00
544	Book - Luaihati Bautista Nobelista ang mapagpalayang sining ng kababaihan sa Pilipinas/San Juan, 2023	1	сору	790.00	790.00
545	Book - Organic Chemistry 7th ed/Smith, 2024	1	сору	5,965.00	5,965.00
and the same of	Book - Pagbasa at pagsusuri sa iba't ibang teksto tungo sa pananaliksii/ Sanchez, 2023	2	сору	563.00	1,126.00
547	Book - Philippine Slang and Gay Dictionary/De la Cruz, 2023	1	copy	970.00	970.00
548	Book - SIDAY: Mga tulang bayan ng panay at negros: Kalakip ang orihinal na Hiligaynon, Kinaray-a at Aklanon/ Viltareal, 1997	1	сору	988.00	988.00
549	Book - Java programming, 10th ed/ Farrell, 2023	1:	copy	9,990.00	9,990.0
550	Book - Modern deep learning design and Application Development versatile tools to solve deep learning problems/ Ye, 2022	1	copy	4,990.00	4,990.00
551	Book - Statistics and probability, revised edition/Carpio, 2023	1	copy	937.00	937.00
552	Book - Basic math & pre-Algebra: all in one for Dummies/ Zegarelli, 2022	1	copy	3,792.00	3,792.0
553	Book - Relevance, Pragmatics and Interpretation, essays in Honor of Deirdre Wilson/ Scott, 2022	1.	copy	3,533.00	3,533.0
554	Book - Introducing language and society/ Jones, 2022	1	copy	3,430.00	3,430.0
555	Book - Biological Chemistry/ Chua, 2022	2	сору	777.00	1,554.0
556	Book - Translation and Genre/Woodstein, 2022	1	copy	2,285.00	2,285.0
557	Book - Schaum's outline calculus for business economics and finance/Levano, 2022	1	copy	2,980.00	2,980.0
558	Book - Calculus: 1901 Practice problems for Dummies / Patrick JMT, 2022	1	copy	2,942.00	2,942.0
559	Book - The Addiction freatment planner 6th ed/Perkinson, 2022	1	copy	6,985.00	6,985.0
560	Book - Pragmatics in English: an introduction/Scott, 2023	1	copy	3,430.00	3,430.0

		AL A	MOUNT	PhP 2.3	361,275.00
	Requested by: Corazon C. Corbal				
	For official use of library clients for their research and information needs.				
	***** Nothing Follows *****	_			
	Delivery Period: 30 calendar days				
569	Book - Discipline and Ideas in the Social sciences for senior high school: K to 12 Curriculum Compliant/ Siquete, 2021	1	copy	550.00	550.0
568	Book - Ang Armadong Paraluman sa panahon ng kilabot: the armed paramour in a time of terror/San Juan, Jr., 2023	1	copy	988.00	988.0
567	Book - General Biology 1, 4th edition/ 3G E- Learning, 2023	1	copy	5,400.00	5,400.0
566	Book - CBT Treatment plans and interventions for Depression and anxiety disorders in youth/ Chu, 2023	1	copy	4,680.00	4,680.00
565	Book - Microbiology and parasitology manual for allied health sciences and Fundamentals of Microbiology and Parasitology for allied health sciences (set: book and manual/Brussel, 2022	1	copy	2,270.00	2,270.00
564	Book - Resolving critical issues in clinical Supervision : a practical evidence-based approach/Miline, 2023	1	copy	4,690.00	4,690.00
563	Book - Co-Occuring disorders 2nd ed.: a whole- person approach to the assessment and treatment of substance use and mental disorder/Alkins, 2021	1	copy	4,990.00	4,990.00
562	Book - Methods in Behavioral research 15th ed/Cozby, 2024	1	copy	5,805.00	5,805.00
561	Book - An introduction to psychometrics and psychological assessment : using, interpreting and developing 2nd ed./ Cooper, 2023	1	copy	4,822.00	4,822.00

- iii. General and Special Conditions of Contract, and
- iv. Supplemental or Bid Bulletins, if any
- Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted;

Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (e.g., Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;

- iii. Performance Security;
- iv. Notice of Award of Contract; and the Bidder's conforme thereto; and
- v. Other contract documents that may be required by existing laws and/or the Procuring Entity concerned in the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.
- In consideration for the sum of TWO MILLION THREE HUNDRED SIXTY ONE THOUSAND TWO HUNDRED SEVENTY FIVE PESOS (PhP 2,361,275.00) ONLY or such other sums as may be ascertained, the CD BOOKS INTERNATIONAL, INC. agrees to supply and deliver various BOOKS FOR THE UNIVERSITY LIBRARY in accordance with his/her/its Bid.
- The ILOILO SCIENCE AND TECHNOLOGY UNIVERSITY agrees to pay the above-mentioned sum in accordance with the terms of the Bidding.

IN WITNESS WHEREOF the parties hereto have caused this Agreement to be executed in accordance with the laws of the Republic of the Philippines on the day and year first above written.

ILOILO SCIENCE AND TECHNOLOGY UNIVERSITY (ISAT U)

CD BOOKS INTERNATIONAL, INC.

By:

GABRIEL M. SALISTRE, JR., PEE, DIT SUC President III de

mount BABY WINNIE C. AMOR Authorized Representative

WITNESSETH:

By:

CORAZON C. CORBAL, PhD Vice President for Academic Affairs,

RUSS ALLEN B NAPUD, DIT Vice President for Administration and Finance

REPUBLIC OF THE PHILIPPINES: CITY OF ILOILO CEBU CITY

## ACKNOWLEDGMENT

DCT 092024 Before me, a Notary Public, in the City 6EBU CLINE 2024 day of personally appeared the following persons who exhibited their identification cards to establish their identities, to wit:

Date Issued Place Issued Government ID Name ISAT 05 August ID NUMBER GABRIEL M. SALISTRE JR., PEE, DIT UNIVERSITY 2023 04-0232 ILOILO CITY SEPTEMBER SSS ID No.

They are known to me to be the same persons who executed the foregoing instrument and they acknowledged to me that the same is their free, voluntary act and deed as well as the voluntary

06-164538969

The instrument consists of nineteen (19) pages including this page wherein this acknowledgement is written and duly signed by the parties and their witnesses on each and every page hereof.

WITNESS MY HAND AND SEAL, on the date and place above written.

Brook No Series of

act of the institution / agencies they represent.

BABY WINNIE C. AMOR

TY. RAUL L. PATUAL Until Dec 31 2024 PTR NO. 2484770 on Dec. 20, 2023 At Cebu City Roll No. 44641 ommission No 0121 Lifetime No. 0793 MCLE No. VHOUSTITE

CEBU CITY

Notary Public

90 bixosalem St.

1998